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RATIONAL EXPRESSIONS REVIEW
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Simplify the following by adding, subtracting, multiplying or dividing.

3x + 1 6x

26 -5) + Ay+3)

3a 2a
2+ -1
X X
4 - 3
X-Tx+6 x+3x-4
2a a? - p?
a’ + ab 3a-~3b
1 + h
h+1

4 + 3x+8 -

x(3x + 2) 3x + 2

3

-

X

P 6

W _w-6 3w+ 6

28. Ix+3 + 3x -4
-4 2+ 5% + 6

29 1 ~ 2
a2+4a-5 alia-o

30, -9 +8 + X +4x-5

-1 x> - 25

3. 7 - 1

32,

42’ + 172 + 15 . 6x + x - 15

2x% - 3x a>+ 6a+9



3. Perform the operations as indicated.

8 x+2 2x+3 4 2x S5x
a) -+X:=

xT 3 b) 32 32 c) 8+X x2+5x-24

4 Two types of courses are offered at a flying school. The firstinvolves a flight simulator and costs
$(20h + 75). The second is offered on board a plane and costs $(32h + 120). If h represents the
number of hours the course is taken, what rational expression represents the relation between
the cost of courses using a flight simulator and the cost of courses on board a plane?

O

. 1 .
5. A reservoir contains (%)L of water. A water pump with capacity (ﬁ-ﬁ) L/min

is used to empty it out.

Which expression corresponds to the time it takes to empty the reservoir?
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